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. Six questions may be answered.

Mathematical Tables may be obtained from the Superintendent,

1. Construct an equilateral triangle equal in area to & square
side 2 inches. No proof is reguired, but every step in the construeti
should be stated. .

{0 nmrk.s.l":

| 2 Show that the locus of a point which moves so that its dis

r from a fixed point is equal to the length of its tangent to a given

fiiz] is a straight line perpendicular to the line joining the fixed poinf il
the centre of the circle.

Ei [40 marksj

3. Draw the graph of tanf 1L eot from 8=0° to 6=180".
40 marks¥

“ 4. Prove that in a triangle
l: . a = beosC — ¢cosB,
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|r| : Hence, or otherwise, prove that

} ' costA - cos®B -+ 60820 -+ 2 cosA cosB cosC = I.
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L 5. (i) Prove that tan2x = 2tan {x -+ tan~’ (tan®u)}.
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M | (i) Solve the eguation cos~'z -+ 2sin~te = =
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g and (3 are the roots of  a cosh + bsinf = ¢, - prove that
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Find the length of the perpendicular from the point (2, 4') to the
g line ax-by+c=0.

distance of a point from the line 32—4y=1 is twice its distance

he line 122-1-5y=0;: find its locus.

[42 marks.]

co-ordinates of the vertices of a triangle are (0,0); (4,0);
Find the equation of the line joining the orthocentre to the
ntre, and show that the centroid lies on this line.

[42 marks.]

ove that the straight line ax--by-c-Fa(a'e4-by-1¢')=0

it bhrough a fixed point for all values of 2.
[ also that the circle 2*-13*—25-A(52+3y—3)=0 passes
. two fixed points, and find their co-ordinates.
::i [42 marks.]

how that the equation of the parabola (x—y)*+-3a—y=0
put into the form (x—y--a)*+b (2-+y--¢)=0, where Z—y-la=0
Sy+c=0 represent the axis and the tangent at the vertex
: ively. Find the co-ordinates of the vertex.

o N [42 marks.]



